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CHEMISTRY

BOOKS - JMD CHEMISTRY (PUNJABI
ENGLISH)

ALCOHOLS,PHENOLS AND ETHERS

1. Acidic strength of primary (1°), secondary (

2°) and tertiary (3°) alcohols follow the


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_KiI98EoRV9EM

sequence:

Al1° >2° > 3°

B.2° >3° >1°

C.3° >2° >1°

Answer: A

o Watch Video Solution

2. Carbolic acid is


https://dl.doubtnut.com/l/_KiI98EoRV9EM
https://dl.doubtnut.com/l/_xOdAS3tQjKGp

A. Salol

B. Phenol

C. Aniline

D. Resorcinol.

Answer: B

° Watch Video Solution

3. Phenol reacts with bromine water in C'S, at

low temperature to give


https://dl.doubtnut.com/l/_xOdAS3tQjKGp
https://dl.doubtnut.com/l/_E8Nfrn74qXO6

A. o-Bromophenol

B. 0 and p-Bromophenol

C. p-Bromophenol

D. 2,4,6-Tribromophenol

Answer: D

o Watch Video Solution

4. Alcohols are

A. weaker acid than water


https://dl.doubtnut.com/l/_E8Nfrn74qXO6
https://dl.doubtnut.com/l/_CZ9gke3axfrJ

B. stronger acid than phenol

C. stronger acid than carboxylic acid

D. stronger acid than carbonic acid.

Answer: A

o Watch Video Solution

5. Picric acid is

A. Trinitrotoluene

B. Trinitroaniline


https://dl.doubtnut.com/l/_CZ9gke3axfrJ
https://dl.doubtnut.com/l/_Ki3VFgvaSiZX

C. 2,4,6-Trinitrophenol

D. 2, 4. 6-Trimethylphenol.

Answer: C

o Watch Video Solution

6. Phenol reacts with bromine in C'S5, to give:

A. o-Bromophenol

B. 0 and p-Bromophenol

C. p-Bromophenol


https://dl.doubtnut.com/l/_Ki3VFgvaSiZX
https://dl.doubtnut.com/l/_LhWpoF6xFhLN

D. 2,4,6-Tribromophenol

Answer: B

o Watch Video Solution

7. Spirit is 95% solution of

A. Methanol

B. Acetone

C. Benzene

D. Ethanol.


https://dl.doubtnut.com/l/_LhWpoF6xFhLN
https://dl.doubtnut.com/l/_27KswPpj7we3

Answer: D

o Watch Video Solution

8. Nitration of phenol in the presence of conc.

H>S50, forms

A. o-Nitrophenol

B. m-Nitrophenol

C. p-Nitrophenol

D. 2,4,6-Trinitrophenol


https://dl.doubtnut.com/l/_27KswPpj7we3
https://dl.doubtnut.com/l/_SxW4kOIWG5Xl

Answer: D

o Watch Video Solution

9. The correct order of boiling points for
primary (1°), secondary (2°) and tertiary (3°)

alcohols is

A1° > 2° > 3°


https://dl.doubtnut.com/l/_SxW4kOIWG5Xl
https://dl.doubtnut.com/l/_G4QEYpQp2NhA

Answer: A

o Watch Video Solution

10. Correct order of acidic strength of alcohols

IS :

R;C — OH > R,CH—OH > R— OH

R,CH — OH > R;C—OH > R— OH


https://dl.doubtnut.com/l/_G4QEYpQp2NhA
https://dl.doubtnut.com/l/_1geunvOQzcKj

C. ROH > R,CH— OH > R;C— OH

R,CH - OH > R—OH > R;C—OH

Answer: C

o Watch Video Solution

11. Which of the following (having comparable
molecular masses) has highest boiling point ?

Alcohols, Ethenes, Phenols, Hydrocarbons.


https://dl.doubtnut.com/l/_1geunvOQzcKj
https://dl.doubtnut.com/l/_7gCIPWFsegqP

A. Alcohols

B. Ethens

C. Phenols

D. Hydrocarbons

Answer: A

° Watch Video Solution

12. Phenol reacts with bromine in C'S,, to give:

A. o-Bromophenol


https://dl.doubtnut.com/l/_7gCIPWFsegqP
https://dl.doubtnut.com/l/_V5qbYyMTzSuD

B. m-Bromophenol

C. o and p-Bromophenol

D. 2,4,6-Tribromophenol

Answer: C

o Watch Video Solution

13. How does phenol react with:

HNO;

A. o-Nitrophenol


https://dl.doubtnut.com/l/_V5qbYyMTzSuD
https://dl.doubtnut.com/l/_cjhZSHydx8sP

B. p-Nitrophenol

C. m-Nitrophenol

D. Picric acid

Answer: D

o Watch Video Solution

14. Phenol reacts with Bry water to give

A. o-Bromophenol

B. m-Bromophenol


https://dl.doubtnut.com/l/_cjhZSHydx8sP
https://dl.doubtnut.com/l/_9DMrXBFaNvF2

C. o and p-Bromophenol

D. 2,4,6-Tribromophenol

Answer: D

o Watch Video Solution

15. Dehydration of tertiary alcohols with Cu at

573 K gives:

A. Aldehydes

B. ketons


https://dl.doubtnut.com/l/_9DMrXBFaNvF2
https://dl.doubtnut.com/l/_wvKsyo7C1eEm

C. Alkenes

D. None of these

Answer: C

o Watch Video Solution

16. Dehydration of alcohols to give alkenes is

catalysed by :

A. Cone.H, S50, at 413 K

B. Cone.H,50, at 443 K


https://dl.doubtnut.com/l/_wvKsyo7C1eEm
https://dl.doubtnut.com/l/_pY9xC2juH21j

C.Cone.H,504 at 483 K

D. None of these

Answer: B

o Watch Video Solution

17. Dehydration of alcohols on give ethers is

catalyzed by :

A. Cone.H, S50, at 413 K

B. Cone.H,50, at 443 K


https://dl.doubtnut.com/l/_pY9xC2juH21j
https://dl.doubtnut.com/l/_7w6DlWmSsMIA

C.Cone.H,504 at 483 K

D. None of these

Answer: A

o Watch Video Solution

18. Which of the following statement is

incorrect?

A. Phenol liberates CO5 from NaHCO;

B. Phenol is a weak acid


https://dl.doubtnut.com/l/_7w6DlWmSsMIA
https://dl.doubtnut.com/l/_d2RgCyB6HlXg

C. Phenol is aromatic compound

D. Phenol is soluble in NaOH.

Answer: A

o Watch Video Solution

19. Molecular formula of Ethers is :

A C,Hy, . ,OH

B.C,,H>,0

C.C_nH_(2n+1)0°


https://dl.doubtnut.com/l/_d2RgCyB6HlXg
https://dl.doubtnut.com/l/_kS0stu8PV7Ta

D. None of these

Answer: D

o Watch Video Solution

20. lodoform test is not given by :

A. 2-Pentanol

B. 3-pentanol

C. Ethanol

D. Ethanal


https://dl.doubtnut.com/l/_kS0stu8PV7Ta
https://dl.doubtnut.com/l/_QElexi33Ic7a

Answer: B

o Watch Video Solution

21. Williamsons synthesis is an example of :

A. Nucleophilic substitution reaction

B. Nucleophilic addition

C. Electrophilic substitution

D. None of these

Answer: A


https://dl.doubtnut.com/l/_QElexi33Ic7a
https://dl.doubtnut.com/l/_SGGrShY6kZFa

° Watch Video Solution

22. Grignard reagent can be prepared in:

A. Diethyl ether

B. Alcohol

C. Benzene

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_SGGrShY6kZFa
https://dl.doubtnut.com/l/_NX2G0AaVbokZ

23. Intermolecular H-bonding in strongest in:

A. Methylamine

B. Phenol

C. Formaldehyde

D. Methanol

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_NX2G0AaVbokZ
https://dl.doubtnut.com/l/_L2HlMKAtD3U8

24. Which of the following has highest boiling

point ?

A. Methanol

B. Ethanol

C. Propan-1-ol

D. Butan-1-ol

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6w3ugfhmtcjB
https://dl.doubtnut.com/l/_Oo3S7ehio7VV

25. Which of the following is strongest acid ?

A. o-Nitrophenol

B. m-Nitrophenol

C. p-Nitrophenol

D. Ethanol.

Answer: C

° Watch Video Solution

26. Which has highest pk, value?


https://dl.doubtnut.com/l/_Oo3S7ehio7VV
https://dl.doubtnut.com/l/_gKPzZXcEkdHi

A. Phenol

B. Ethanol

C. o-Nitrophenol

D. o-Cresol

Answer: D

° Watch Video Solution

27. Which of the following is most acidic?

A. Benzyl alcohol


https://dl.doubtnut.com/l/_gKPzZXcEkdHi
https://dl.doubtnut.com/l/_DRxbsu11kgK3

B. Cyclohexanol

C. Phenol

D. m-Chlorophenol

Answer: D

o Watch Video Solution

28. Complete the reaction :

OC,H,

+ HBr -



https://dl.doubtnut.com/l/_DRxbsu11kgK3
https://dl.doubtnut.com/l/_SFJw0LO5w0IM

A CyHil, CH,OH

B. CxH:OH, CH,l

C. CH;CH,OH, CHyl

D. CH;CH,l, CsH;OH

Answer: B

o Watch Video Solution

29. Which is weakest acid in the following? CH
30H,(CH3)2CHOH,CH3CH2O0H,(CH

3)3COH.


https://dl.doubtnut.com/l/_SFJw0LO5w0IM
https://dl.doubtnut.com/l/_IXgQqFJ2NbYe

A.CH,OH
8. (CH;),CHOH
C. CH;CH,OH

D.(CH;3),COH

Answer: D

o Watch Video Solution

30. In the following which is the strongest

acid?


https://dl.doubtnut.com/l/_IXgQqFJ2NbYe
https://dl.doubtnut.com/l/_FnL6hyxoq91z

A.CH;OH
B. CH;CH,OH
C.(CH;),CHOH

D.(CH;3),COH

Answer: A

o Watch Video Solution

31. Choose the correct option from parts

labelled (a) -


https://dl.doubtnut.com/l/_FnL6hyxoq91z
https://dl.doubtnut.com/l/_TJ2SKM4Dw6Fn
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A.CHs = CH->

B.C9HsCHs3
C. (CzH5)2O

D.CH3sCHyCH>CHj;

Answer: C

| N


https://dl.doubtnut.com/l/_TJ2SKM4Dw6Fn

| ¥ Watch Video Solution

32. Express geometrical isomerism in

Cl_~  NH,
Pt

Cl | NH,

A. CHz — CH2
B. 02H5'O'02H5
C. CH;-0-C H,-C H;

D. CH,;CH,HSO,


https://dl.doubtnut.com/l/_TJ2SKM4Dw6Fn
https://dl.doubtnut.com/l/_sCuc66ZkihH4

Answer: B

o Watch Video Solution

33. Choose the correct option from parts
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https://dl.doubtnut.com/l/_sCuc66ZkihH4
https://dl.doubtnut.com/l/_L0SWRJkq000D

A. CHz — CH2

B. C2H5002H5

C. CH;OCH,CHs

D. CH,;CH,HSO,

Answer: A

o Watch Video Solution

34. The IUPAC name of

C.Hg — CH2 — CH2 — CH(OH) — CH3 Is


https://dl.doubtnut.com/l/_L0SWRJkq000D
https://dl.doubtnut.com/l/_tNwu2SrmhAnb

A. Pentan-2-ol

B. Pentan-4-ol

C. Pentan-1-ol

D. Pentanol

Answer: A

° Watch Video Solution

35. Glycerol is a tertiary alcohol.

° Watch Video Solution



https://dl.doubtnut.com/l/_tNwu2SrmhAnb
https://dl.doubtnut.com/l/_F65obiaPngbT

36. Cresol and benzyl alcohol are isomers.

° Watch Video Solution

37. Common name of ethoxybenzene, is

anisole

o Watch Video Solution

38. Monocarboxylic acid on reduction with H,

/Ni gives 1° alcohol.


https://dl.doubtnut.com/l/_F65obiaPngbT
https://dl.doubtnut.com/l/_f396MtW5XaKn
https://dl.doubtnut.com/l/_847DMONn9BhV
https://dl.doubtnut.com/l/_trsYxvXhWs64

° Watch Video Solution

39. Oxidation of ethanol with acidified

KMNQOy, gives acetic acid.

o Watch Video Solution

40. Reduction of an aldehyde with H, /Pd

gives a 1° alcohol.

° Watch Video Solution



https://dl.doubtnut.com/l/_trsYxvXhWs64
https://dl.doubtnut.com/l/_7u3QIXY81ZIQ
https://dl.doubtnut.com/l/_X0D6k23a5Jjp
https://dl.doubtnut.com/l/_oU76awGRra8q

41. Reduction of a ketone with Hy /Pd gives a

3° alcohol.

o Watch Video Solution

42. Carbolic acid is

o Watch Video Solution

43. Water is more acidic than alcohol

o Watch Video Solution



https://dl.doubtnut.com/l/_oU76awGRra8q
https://dl.doubtnut.com/l/_jVGkuuw0LqMN
https://dl.doubtnut.com/l/_0IIiqZbWlDjy

44, true/False Water is more acidic than a

phenol

° Watch Video Solution

45. Cumene is isopropyl benzene.

° Watch Video Solution



https://dl.doubtnut.com/l/_0IIiqZbWlDjy
https://dl.doubtnut.com/l/_FLmZXhsBFYcp
https://dl.doubtnut.com/l/_31cSAIG4y8Kw

46. How is Benzene Diazonium chloride

prepared and give its reaction with water ?

° Watch Video Solution

47. Acidic strength of primary (1°), secondary (
2°) and tertiary (3°) alcohols follow the

sequence:

° Watch Video Solution



https://dl.doubtnut.com/l/_n8s1N0pLAxXk
https://dl.doubtnut.com/l/_5zHjSBAlWC5o

48. Out of three isomeric nitrophenols, the p-

nitrophenol is most acidic.

o Watch Video Solution

49, Phenols turn blue litmus red

o Watch Video Solution

50. Alcohols reacts with sodium metal to

release hydrogen gas True/False



https://dl.doubtnut.com/l/_5i5oHVX1nrgz
https://dl.doubtnut.com/l/_Pi40nO7hlWrK
https://dl.doubtnut.com/l/_w5JjDE2DwVo7

o Watch Video Solution

51. C-O-C bond angle in ethers is higher than
H-O-H bond angle in water through O is sp® -

hybridisedin both the cases.

o Watch Video Solution

52. Write the mechanism of hydration of

ethene to yield ethanol.

o Watch Video Solution



https://dl.doubtnut.com/l/_w5JjDE2DwVo7
https://dl.doubtnut.com/l/_gqhgiZ2HsKYe
https://dl.doubtnut.com/l/_2KBlkSQ3KYum

53. How will you convert Methanol into

Ethanol ?

o Watch Video Solution

54. How will you get primary, secondary and
tertiary alcohols from suitable carbonyl

compound by action of Grignard reagent?

o Watch Video Solution



https://dl.doubtnut.com/l/_2KBlkSQ3KYum
https://dl.doubtnut.com/l/_4LcuNchPtzZZ
https://dl.doubtnut.com/l/_0RJERWiqekQp
https://dl.doubtnut.com/l/_IZwQoUs1xW3l

55. Give equations of reactions for the
preparaton of phenol from cumene(Cumene

Process)

o Watch Video Solution

56. Write short note on Dow's process.

o Watch Video Solution

57. How will you convert chlorobenzene into

phenol ?


https://dl.doubtnut.com/l/_IZwQoUs1xW3l
https://dl.doubtnut.com/l/_BdQn1NhQSCyr
https://dl.doubtnut.com/l/_v0Rp5KBYmBEd

° Watch Video Solution

58. Explain why propanol has higher boiling

point than that of the hydrocarbon,butane?

o Watch Video Solution

59. Why do alcohols have higher boiling points

than halo-alkanes of the same molecular mass

o Watch Video Solution



https://dl.doubtnut.com/l/_v0Rp5KBYmBEd
https://dl.doubtnut.com/l/_iAW4IBoSJiWk
https://dl.doubtnut.com/l/_ioX2NcLdCDrA

60. Alcohols are soluble in water while alkyl
halides arenot, although both are polar

compounds. Explain.

o Watch Video Solution

61. Why alcohols are higher boiling point than
hydrocarbons of corresponding molecular

masses ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ioX2NcLdCDrA
https://dl.doubtnut.com/l/_LKPx37lqIh57
https://dl.doubtnut.com/l/_BlBpb3QHiPaq

62. Why solubility of alcohols in water

decreases with increase in molecular mass ?

° Watch Video Solution

63. Why boiling point of phenols are higher
than the boiling point of aromatic

hydrocarbons of similar molecular mass?

° Watch Video Solution



https://dl.doubtnut.com/l/_32N2ppAT9D3W
https://dl.doubtnut.com/l/_ehQvoCxu9NfO

64. Why alcohols are weaker acids than water ?

o Watch Video Solution

65. Explain with an example:

Kolbe's reaction or Kolbe's Schmidt reaction.

o Watch Video Solution

66. Write following name reactions :

Riemer Tiemann reactioin.



https://dl.doubtnut.com/l/_cWZFv6MlihkZ
https://dl.doubtnut.com/l/_ktbaPPOp4n6T
https://dl.doubtnut.com/l/_Kd8zkvs5fyig

o Watch Video Solution

67. How will you convert phenol to salicylic

acid ?

o Watch Video Solution

68. Discuss the reaction and mechanism of
acidic dehydration of ethyl alcohol to prepare

ethene.

o Watch Video Solution



https://dl.doubtnut.com/l/_Kd8zkvs5fyig
https://dl.doubtnut.com/l/_buVRtBoX6EyD
https://dl.doubtnut.com/l/_Wv0opOf4Laay

69. Why is phenol stronger acid than the

alcohols ? Explain in detail.

o Watch Video Solution

70. Why primary alcohols are more acidic than

secondary alcohols?

o Watch Video Solution



https://dl.doubtnut.com/l/_Wv0opOf4Laay
https://dl.doubtnut.com/l/_cPWqJkCXA067
https://dl.doubtnut.com/l/_jo4yMfq7bJV9

71. Why -OH group in phenol is ortho and para

directing in nature ?

o Watch Video Solution

72. Complete the reaction

CN
dil HC!

l €@ Wwatch Video Solution


https://dl.doubtnut.com/l/_YY7GS6nYmffX
https://dl.doubtnut.com/l/_i3KYgTg43dfi

73. Write short note on :

Schotten Baumann reaction

o Watch Video Solution

74. Write esterification reaction.

o Watch Video Solution

75. What is Coupling reaction ?


https://dl.doubtnut.com/l/_i3KYgTg43dfi
https://dl.doubtnut.com/l/_uNCKex19umAq
https://dl.doubtnut.com/l/_uhjI7gcsbYRg
https://dl.doubtnut.com/l/_eyApe7IYlReb

° Watch Video Solution

76. How is phenol converted into picric acid ?

° Watch Video Solution

77. How is phenol converted into

phenolphthalein ?

o Watch Video Solution



https://dl.doubtnut.com/l/_eyApe7IYlReb
https://dl.doubtnut.com/l/_eC3DzQsRu3hT
https://dl.doubtnut.com/l/_ORQCRpKoEfmv

78. Explain Lucas test to distinguish between

1°,2° and 3° alcohols.

o Watch Video Solution

79. Distinguish between primary, secondary

andtertiary alcohols by chemical test.

o Watch Video Solution



https://dl.doubtnut.com/l/_eXkBZzufppIN
https://dl.doubtnut.com/l/_Ze0c5M3KLMT7

80. Write short note on Victor Meyer's test to

distinguish between 1° ,2° and 3° alcohols.

° Watch Video Solution

81. Discuss oxidation of primary,secondary and

tertiary alcohols.

o Watch Video Solution



https://dl.doubtnut.com/l/_dulukotqOvHU
https://dl.doubtnut.com/l/_8N6rpAv3usxf

82. Compare the acidic characters of primary,

secondary and tertiary alcohols.

° Watch Video Solution

83. Discuss the acidic dehydration of alcohols

at different temperatures.

o Watch Video Solution



https://dl.doubtnut.com/l/_UJ1KEzqTSSij
https://dl.doubtnut.com/l/_xxsI8fwu9yV0

84. What happens when 1°, 2° and 3°
alcohols are passed over red hot copper ? Give

equations.

o Watch Video Solution

85. Explain Williamson’ssynthesis.

o Watch Video Solution



https://dl.doubtnut.com/l/_2UvjOKEZCPcR
https://dl.doubtnut.com/l/_8plyVOR0z36b

86. Ethers possess a dipole moment even if the
alkyl groups in the molecule are identical.

Explain.

o Watch Video Solution

87. Dimethyl ether is completely soluble in
water but diethyl ether is soluble in water to a

small extent. Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_jgVTw7vpBnb6
https://dl.doubtnut.com/l/_iWteK02Vxf9D
https://dl.doubtnut.com/l/_VkKuO3rd8pf4

88. The Boiling Point of ethers are lower than

isomeric alcohols why ?

o Watch Video Solution

89. Acidic strength of primary (1°), secondary (
2°) and tertiary (3°) alcohols follow the
sequence:

A1° >2° >3°

B.2° >3° >1°

C.3° >2° >1°


https://dl.doubtnut.com/l/_VkKuO3rd8pf4
https://dl.doubtnut.com/l/_JBgN7uuhsY0s

D.3° >1° > 2°

Answer: A

o Watch Video Solution

90. Carbolic acid is

A. Salol

B. Phenol

C. Aniline

D. Resorcinol.


https://dl.doubtnut.com/l/_JBgN7uuhsY0s
https://dl.doubtnut.com/l/_TsafoUT1bdtJ

Answer: B

o Watch Video Solution

91. Phenol reacts with Br, water to give

A. o-Bromophenol

B. 0 and p-Bromophenol

C. p-Bromophenol

D. 2,4,6-Tribromophenol

Answer: D


https://dl.doubtnut.com/l/_TsafoUT1bdtJ
https://dl.doubtnut.com/l/_yo8dUYIShpG2

° Watch Video Solution

92. Alcohols ere

A. weaker acid than water

B. stronger acid than phenol

C. stronger acid than carboxylic acid

D. stronger acid than carbonic acid.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_yo8dUYIShpG2
https://dl.doubtnut.com/l/_MPAzRjkUwsLZ

93. Picric acid is

A. Ttinitrotoluene

B. Trinitroaniline

C. 2,4,6-Trinitrophenol

D. 2, 4. 6-Trimethylphenol.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_MPAzRjkUwsLZ
https://dl.doubtnut.com/l/_aTPNeCwE52sr

94. Phenol reacts with bromine in CS,, to give:

A. o-Bromophenol

B. 0 and p-Bromophenol

C. p-Bromophenol

D. 2,4,6-Tribromophenol

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_cs7gL6EGw629

95. Spirit is 95% solution of

A. Methanol

B. Acetone

C. Benzene

D. Ethanol.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_yx4YUT70gLb2

96. Nitration of phenol in the presence of

conc. H,50, forms

A. o-Nitrophenol

B. m-Nitrophenol

C. p-Nitrophenol

D. 2,4,6-Trinitrophenol

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_tN2QDJbbzYiK
https://dl.doubtnut.com/l/_439QjK7EMskG

97. The correct order of boiling points for
primary (1°), secondary (2°) and tertiary (3°)

alcohols is

A 1° > 2° > 3°

C.2° >1° > 3°

D.2° > 3° > 1°

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_439QjK7EMskG
https://dl.doubtnut.com/l/_7XwfmVb4L3WA

98. Correct order of acidic strength of alcohols

IS :

RsC - OH > R,CH—OH > R—OH

R,CH — OH > R;C— OH > R— OH

C. ROH > R,CH— OH > R;C— OH

R,CH — OH > R— OH > R;C— OH


https://dl.doubtnut.com/l/_7XwfmVb4L3WA

Answer: C

o Watch Video Solution

99. Which of the following (having comparable

molecular masses) has highest boiling point ?

Alcohols, Ethenes, Phenols, Hydrocarbons.

A. Alcohols

B. Ethens

C. Phenols

D. Hydrocarbons


https://dl.doubtnut.com/l/_7XwfmVb4L3WA
https://dl.doubtnut.com/l/_JEe18AvM94vw

Answer: A

o Watch Video Solution

100. Phenol reacts with bromine in CS,, to

give:

A. o-Bromophenol

B. m-Bromophenol

C. o and p-Bromophenol

D. 2,4,6-Tribromophenol


https://dl.doubtnut.com/l/_JEe18AvM94vw
https://dl.doubtnut.com/l/_12oa3rHL7JFQ

Answer: C

o Watch Video Solution

101. How does phenol react with:

HNO;

A. o-Nitrophenol

B. p-Nitrophenol

C. m-Nitrophenol

D. Picric acid


https://dl.doubtnut.com/l/_12oa3rHL7JFQ
https://dl.doubtnut.com/l/_Qx3vbfaDd8nT

Answer: D

o Watch Video Solution

102. Phenol reacts with Bry water to give

A. o-Bromophenol

B. m-Bromophenol

C. o and p-Bromophenol

D. 2,4,6-Tribromophenol

Answer: D


https://dl.doubtnut.com/l/_Qx3vbfaDd8nT
https://dl.doubtnut.com/l/_UKWAey5dz9R2

° Watch Video Solution

103. Dehydration of tertiary alcohols with Cu

at 573 K gives:

A. Aldehydes

B. ketons

C. Alkenes

D. None of these

Answer: C

| 8 l


https://dl.doubtnut.com/l/_UKWAey5dz9R2
https://dl.doubtnut.com/l/_rAKzppLFtPJ7

104. Dehydration of alcohols to give alkenes is

catalysed by :

A. Cone.H,50, at 413 K

B. Cone.H,50, at 443 K

C.Cone.H,504 at 483 K

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rAKzppLFtPJ7
https://dl.doubtnut.com/l/_u5elg7MucJQP

105. Dehydration of alcohols on give ethers is

catalyzed by :

A. Cone.H,50, at 413 K

B. Cone.H, 50, at 443 K

C.Cone.H,504 at 483 K

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_u5elg7MucJQP
https://dl.doubtnut.com/l/_4LWnxCbfJNAq

106. Which of the following statement is

incorrect?

A. Phenol liberates CO5 from NaHCO;

B. Phenol is a weak acid

C. Phenol is aromatic compound

D. Phenol is soluble in NaOH.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_uqx0lEaR0Vbs
https://dl.doubtnut.com/l/_rg0DvZQYN89t

107. Molecular formula of Ethers is :

A. CnH2n+2OH

B.C,,H>5,0

C.C nH (2n+1)0O’

D. None of these

Answer: D

° Watch Video Solution

108. lodoform test is not given by :


https://dl.doubtnut.com/l/_rg0DvZQYN89t
https://dl.doubtnut.com/l/_CjCVAlMd6un4

A. 2-Pentanol

B. 3-pentanol

C. Ethanol

D. Ethanal

Answer: B

o Watch Video Solution

109. Williamsons synthesis is an example of :

A. Nucleophilic substitution reaction


https://dl.doubtnut.com/l/_CjCVAlMd6un4
https://dl.doubtnut.com/l/_LCq7Om1uqUat

B. Nucleophilic addition

C. Electrophilic substitution

D. None of these

Answer: A

o Watch Video Solution

110. Grignard reagent can be prepared in:

A. Diethyl ether

B. Alcohol


https://dl.doubtnut.com/l/_LCq7Om1uqUat
https://dl.doubtnut.com/l/_vwravw0Obk45

C. Benzene

D. None of these

Answer: A

° Watch Video Solution

111. Intermolecular H-bonding in strongest in:

A. Methylamine

B. Phenol

C. Formaldehyde


https://dl.doubtnut.com/l/_vwravw0Obk45
https://dl.doubtnut.com/l/_syvyxtYKRAAh

D. Methanol

Answer: D

o Watch Video Solution

112. Which of the following has highest boiling

point ?

A. Methanol

B. Ethanol

C. Propan-1-ol


https://dl.doubtnut.com/l/_syvyxtYKRAAh
https://dl.doubtnut.com/l/_kWQEKo49ETJE

D. Butan-1-ol

Answer: D

° Watch Video Solution

113. Which of the following is strongest acid ?

A. o-Nitrophenol

B. m-Nitrophenol

C. p-Nitrophenol

D. Ethanol.


https://dl.doubtnut.com/l/_kWQEKo49ETJE
https://dl.doubtnut.com/l/_f3MsnyrThwuP

Answer: C

o Watch Video Solution

114. Which has highest pk, value?

A. Phenol

B. Ethanol

C. o-Nitrophenol

D. o-Cresol

Answer: D


https://dl.doubtnut.com/l/_f3MsnyrThwuP
https://dl.doubtnut.com/l/_PsF0c936CXcJ

° Watch Video Solution

115. Which of the following is most acidic?

A. Benzyl alcohol

B. Cyclohexanol

C. Phenol

D. m-Chlorophenol

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_PsF0c936CXcJ
https://dl.doubtnut.com/l/_iHS6S4m7E40c

116. Which is weakest acid in the following? CH
30H,(CH3)2CHOH,CH3CH2O0OH,(CH
3)3COH.

A.CH;OH

B. (C’H3)2CHOH

C.CH;CH,OH

D. (CH,),COH

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_iHS6S4m7E40c
https://dl.doubtnut.com/l/_AlefWHaYr4nY

117. In the following which is the strongest
acid?

A.CH;OH

B.CH;CH,OH

C.(CH;3),CHOH

D. (CH;),COH

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_AlefWHaYr4nY
https://dl.doubtnut.com/l/_cTFFzLU1BdNK

118. The IUPAC name of

CH3 — CHQ — CH2 — CH — CH3 Is

A. Pentan-2-ol

B. Pentan-4-ol

C. Pentan-1-ol

D. Pentanol

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_XnGxDvZTHo1L
https://dl.doubtnut.com/l/_CUhqgsMF5pey

119. Glycerol is a tertiary alcohol.

o Watch Video Solution

120. Cresol and benzyl alcohol are isomers.

o Watch Video Solution

121. Common name of ethoxybenzene, is

anisole

O Watch Video Solution



https://dl.doubtnut.com/l/_CUhqgsMF5pey
https://dl.doubtnut.com/l/_PJFo9iJaRvdV
https://dl.doubtnut.com/l/_L26WWVKciLL4

122. Monocarboxylic acid on reduction with H,

/Ni gives 1° alcohol.

o Watch Video Solution

123. Oxidation of ethanol with acidified

KMNQOy, gives acetic acid.

o Watch Video Solution



https://dl.doubtnut.com/l/_CLjzpcVPU1Fx
https://dl.doubtnut.com/l/_v4PlqrU8qDkv

124. Reduction of an aldehyde with H, /Pd

gives a 1° alcohol.

o Watch Video Solution

125. Reduction of a ketone with Hs /Pd gives a

3° alcohol.

o Watch Video Solution

126. Carbolic acid is



https://dl.doubtnut.com/l/_YjgajARBxPNs
https://dl.doubtnut.com/l/_5csMpHc4dNAq
https://dl.doubtnut.com/l/_l3KOqp8JDSqH

o Watch Video Solution

127. Water is more acidic than alcohol

o Watch Video Solution

128. true/False Water is more acidic than a

phenol

o Watch Video Solution



https://dl.doubtnut.com/l/_l3KOqp8JDSqH
https://dl.doubtnut.com/l/_oe0Zd0L1bHqM
https://dl.doubtnut.com/l/_8pptxvcJJRMf

129. Cumene is isopropyl benzene.

o Watch Video Solution

130. How does benzene diazonium chloride

react with :

Water

o Watch Video Solution



https://dl.doubtnut.com/l/_1r7VTG1khheJ
https://dl.doubtnut.com/l/_EMiOzkU8f33s

131. T/F Acidic character of alcohols follows the
order,

3° >2° >1°.

o Watch Video Solution

132. Out of three isomeric nitrophenols, the p-

nitrophenol is most acidic.

o Watch Video Solution



https://dl.doubtnut.com/l/_UcQV2KPo3xKx
https://dl.doubtnut.com/l/_gPp9zJdOKUe1

133. Phenols turn blue litmus red

o Watch Video Solution

134. Alcohols reacts with sodium metal to

release hydrogen gas True/False

° Watch Video Solution

135. C-O-C bond angle in ethers is higher than

H-O-H bond angle in water through O is sp° -


https://dl.doubtnut.com/l/_DLV3NGApuHub
https://dl.doubtnut.com/l/_nt4Gigw6eQG2
https://dl.doubtnut.com/l/_uDj8SFGudgDk

hybridisedin both the cases.

o Watch Video Solution

136. Write the mechanism of hydration of

ethene to yield ethanol.

° Watch Video Solution

137. How will you convert Methanol into

Ethanol ?

o Watch Video Solution



https://dl.doubtnut.com/l/_uDj8SFGudgDk
https://dl.doubtnut.com/l/_moyzY3QyXB9E
https://dl.doubtnut.com/l/_z9YlkJ6Gx7wf

138. How will you get primary, secondary and
tertiary alcohols from suitable carbonyl

compound by action of Grignard reagent?

o Watch Video Solution

139. Give equations of reactions for the
preparaton of phenol from cumene(Cumene

Process)

o Watch Video Solution



https://dl.doubtnut.com/l/_z9YlkJ6Gx7wf
https://dl.doubtnut.com/l/_yGDYwHYGsgSq
https://dl.doubtnut.com/l/_XQECLFlRD1HG

140. Write short note on Dow's process.

o Watch Video Solution

141. How will you convert chlorobenzene into

phenol ?

° Watch Video Solution



https://dl.doubtnut.com/l/_XQECLFlRD1HG
https://dl.doubtnut.com/l/_unCJ9RQnvZVp
https://dl.doubtnut.com/l/_SCBMS1BHu1zB

142. Alcohols have higher boiling point than

alkanes.Why ?

o Watch Video Solution

143. Why do alcohols have higher boiling
points than halo-alkanes of the same

molecular mass ?

o Watch Video Solution



https://dl.doubtnut.com/l/_3MwGkMuXkPPD
https://dl.doubtnut.com/l/_XIQM5gezRCzR

144. Alcohols are soluble in water while alkyl
halides arenot, although both are polar

compounds. Explain.

o Watch Video Solution

145. Why alcohols are higher boiling point
than  hydrocarbons  of  corresponding

molecular masses ?

o Watch Video Solution



https://dl.doubtnut.com/l/_LSJ8621Kta2z
https://dl.doubtnut.com/l/_3sjAYF09F6wD
https://dl.doubtnut.com/l/_ws94SXiUneoz

146. Why solubility of alcohols in water

decreases with increase in molecular mass ?

o Watch Video Solution

147. Why has phenol, higher boiling point than

toluene ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ws94SXiUneoz
https://dl.doubtnut.com/l/_HVMrH0RbsC41

148. Why alcohols are weaker acids than water

?

o Watch Video Solution

149. What are Kolbe’s Reaction ? Give one

example.

o Watch Video Solution



https://dl.doubtnut.com/l/_Tz8BYvFYfhzv
https://dl.doubtnut.com/l/_Dtf4uaLRelgP

150. Write following name reactions :

Riemer Tiemann reactioin.

o Watch Video Solution

151. How will you convert phenol to salicylic

acid ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Artqd6FdyYpj
https://dl.doubtnut.com/l/_PM01WA0bA8yH

152. Discuss the reaction and mechanism of
acidic dehydration of ethyl alcohol to prepare

ethene.

o Watch Video Solution

153. Why is phenol stronger acid than the

alcohols ? Explain in detail.

o Watch Video Solution



https://dl.doubtnut.com/l/_eDVUlFaDi1Ck
https://dl.doubtnut.com/l/_3k5htDRA7g3C

154. Why primary alcohols are more acidic

than secondary alcohols?

o Watch Video Solution

155. Why -OH group in phenol is ortho and

para directing in nature ?

o Watch Video Solution



https://dl.doubtnut.com/l/_eY4Z47xeZHwr
https://dl.doubtnut.com/l/_7id5hd9seh8I

156. Write short note on :

Schotten Baumann reaction

o Watch Video Solution

157. Write esterification reaction.

o Watch Video Solution

158. What is Coupling reaction ?

o Watch Video Solution



https://dl.doubtnut.com/l/_3mYoEmHyhNEk
https://dl.doubtnut.com/l/_oUC8LJ3FGzTv
https://dl.doubtnut.com/l/_CnrmQOUrkduS

159. How is phenol converted into picric acid ?

o Watch Video Solution

160. How is phenol converted into

phenolphthalein ?

o Watch Video Solution



https://dl.doubtnut.com/l/_CnrmQOUrkduS
https://dl.doubtnut.com/l/_USSriAU5ZiXa
https://dl.doubtnut.com/l/_1YLPnQmsiWIB

161. Explain Lucas test to distinguish between

1°,2° and 3° alcohols.

° Watch Video Solution

162. Distinguish between primary, secondary

andtertiary alcohols by chemical test.

o Watch Video Solution



https://dl.doubtnut.com/l/_8xMyUjqHfbJT
https://dl.doubtnut.com/l/_q0uN54SX08Y3

163. Write short on victor Meyer's test to

distinguish between 1°, 2" and 3" alcohols.

o Watch Video Solution

164. Discuss oxidation of primarysecondary

and tertiary alcohols.

o Watch Video Solution



https://dl.doubtnut.com/l/_iVPSkUmm7cgz
https://dl.doubtnut.com/l/_nLRY0CGJ3FIx

165. Compare the acidic characters of primary,

secondary and tertiary alcohols.

° Watch Video Solution

166. Discuss the acidic dehydration of alcohols

at different temperatures.

o Watch Video Solution



https://dl.doubtnut.com/l/_ntNs1CjP4jhz
https://dl.doubtnut.com/l/_LaQ9PaawDKHt

167. What happens when 1°, 2° and 3°
alcohols are passed over red hot copper ? Give

equations.

o Watch Video Solution

168. Explain Williamson'ssynthesis.

o Watch Video Solution



https://dl.doubtnut.com/l/_M1ZRe0wbIWdJ
https://dl.doubtnut.com/l/_WMUYumrcb9b0

169. Ethers possess a dipole moment even if
the alkyl groups in the molecule are identical.

Explain.

o Watch Video Solution

170. Explain why lower ethers are highly

soluble in water?

° Watch Video Solution



https://dl.doubtnut.com/l/_BzzFPbjAqZbM
https://dl.doubtnut.com/l/_dd0qDO5caS3g

171. The Boiling Point of ethers are lower than

isomeric alcohols why ?

o Watch Video Solution



https://dl.doubtnut.com/l/_XXDLHWpfuX0i

